APVD
RG

DWN
CcT

DATE
[2-5-14

REVISTONS
DESCRIPTION

REV PER ECO [4-018345

LTR

M

DIST

LOC

ok = 2F F
. gl K=l B
ol m S TR o
— ROUW am - WWW = N
O 5 ,FU < |2
© . - W | -
o OM m T M%S m N
© -0 R Rl
“ Rays L || e
war B e I S WWWWW
w2 N S
S} | N
© Jit O—= , G
) i e e =
| esttEstEtt Rt : N
, | SBVRVEVVRBBEVRE = e =
gitiscatenitne FERI
28855680 0EEEEE | | EELBEELLBERLLS == R |
REE8RKAEERREEE |  ARBEAVVBVEVVRVEE T R < T P <
EELELELLLEOLLLE| BOLLELLLLLLELRS [ B
Au E88REEEERAEEEREE BRAVRBEVARVVVVRY) »me — = g -
- - 0 0 = = i =
oo D @ S.E on9 277 R E
M%P O — d %9P s o wm HHHHH M
== ©6860600000006E BREEREAREREREAREARER | S en o 2 |E of
= @ 0EE8RRAEERRREE ARV VEVVRVEE e = |5 332524se
= A REE8RKAEERREEE |  ARBEAVVBVEVVREE = N [
N 8080GR0RAHEEREE |  AARVVVRAVVVRRVE O
- B080GR0RAHEEREEH |  AARVVVRARVVRRVE <
~ - 08K 0EGERREEE |  ARBEAVVVVEVVBVEE % _ e
< L BRAOAE BHOREE | | AAVVCRRCVVRVREE o |z E =
= 1‘/@§§§§§§§§§§§§§w ﬁ@@@@@@@@@@@@@@@ . s LM,
~ @ w Y 2 = o
.= - =
S o |
L
e
O =
[
=
v“
W= N
[@QN
&
(el — —
PR
O O WO
o -
©" o
OMMMEL
‘ L
RN
~ -
O — D T~
L O AMM
|
- H [
o >1J A /) T
K 0 - _ i _
ST °ge =g SEENIR
mwoo © Wr& © o oo <t , © I
A I D
o o0 ] ~ m m «
* < A ¢ | I — ikl i ] i I _\_ ‘ <
> O / H *A = 7
9 =07 <€ 2 :
KJ@ %mwww [ WMM 5RM
S e < o <
. - MMW AHM PR
. =4 -
H o
—
o O Od QO — . O
. o O o o O @)
ST et O B ] - mwu =
OM © %m = — — o O A Ai& oo
o o R ORI o D9 - o . o=
o Y AMOPV‘WOPV O > A&ﬂw
eV EeN ENQNEeN L et o)) w
Q= 7
f (O] [T | [ | ) oo
O O 0 S
X\\ N\W7 //j X\\ //j Ai%
e re000000) 000000 c0000) — v o ) SR
OYOXOYOXO) XOROIOXYOROXO) ooooo@év @@O®O®®® o —
©000600000000006| |00006©00000000 6 NN o
PO EOORROOEePO0| (000000 ee® Mwwﬂw -
ooooo?@@@ooooo ooooowyyo ©00 0666
w @’@@@’QOO@OO@’@O@@ [ ®®®®QOO@OO®’®®®® ) © lﬂ@ J\\ 7
c &p%y@00000®®®0® i@%%@@@@@@@p@®® B O
— — nZ%é@OOOOOb@@%O A:ﬁgé0000006p@® —
L 0O \T m @%@’@‘@00000@‘@@@@ ol%lm%oOOOOO@omu@‘@ 7~ ) 0% &
— ™ =~ /@@O@@OOOOO@O@@[@\& @ooooOOOOO,@ooo[o\M @ Fl [\& @ i
BRI R * A "
+H H \ — — — — — — — —~_ | S — — - N
2 At e ~ 7 N
ey DY °00000000000000) (0000000000000 AHV C o o ) AU
- 00 | S, OOOOO/@O‘/@MOOOOO | ©00000000000006 _ ) o
o = 9000000000000 00| (0000000000000 — ] A
oooooﬂﬁw@oooooo ooooembweeooooo ) ﬂwwﬂw
E 000000000006 oooooWd@O@@ooooo ﬁ ] ﬁ@
ﬁmws

00@00%0@@4@ oe’o‘@%@@@@@eeeﬁuo |
PP OeRRO®W® n:;%600000p@®£w , |
P@PP0@RPPPA® ®’®®®®OOOOO®®‘®®® |
[(OXOXCXCXORORRXONOREO ORONCRORACKCKCKCXCRORONONCORE,
'o,ow KOs L
~/,

(ORCRORORORORORO) _Ao OpCRCRCRCROCRCROROROZO

| @-® [@M& %/K/Fl

| <C | | 6O |

[4.7220.05]

O

s

0

| 864+ . 007

RELEASED FOR PUBLICATION
ALL RIGHTS RESERVED
130
[1&.54]
3 PLC

THIS DRAWING IS UNPUBLISHED.

(:) COPYRIGHT -

CAVITY
10 PLC

Al
I DENTIFICATION
M3 X 0. 5mm
CLINCH NUT

4805 (3/11)



8 7 6 5 4 3 2 |
THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION LOC DIST REVISTONS
@ COPYRIGHT - BY - FrbRTOTS RESERVED. - - P LTR DESCRIPTION DATE DWN APVD
SEE SHEET |
| RECEPTACLE IS INTERMATEABLE TO ARINC 600 STYLE SIZE 3 PLUG ASSEMBLY
/2\ ASSEMBLED CONNECTOR FEATURES COMPLY WITH ARINC 600 SPECIFICATION EXCEPT AS NOTED.
3. THE FOLLOWING FILLER PLUGS FOR THE 13C2 INSERT ARE AVAILABLE, BUT NOT PROVIDED
SIZE 12 FILLER PLUG, TE PART NO. 1663767-4
SIZE 16 FILLER PLUG, TE PART NO. 1663767-3 130 730
SIZE 20 FILLER PLUG, TE PART NO. 1663767-2 SPYE i g s
4. ASSEMBLED CONNECTOR IS IN AGREEMENT, AS NOTED, WITH THALES TECHNICAL ' '
PROCUREMENT SPECIFICATION J54625AA-REV-02 AND CUSTOMER PURCHAS ING PCB STANDORF (REF)
REQUIREMENTS SPECIFICATION 128-1089. o PLC
/5N THE FOLLOWING POSTED PIN CONTACTS FOR THE 13C2 INSERT
ARE  AVAILABLE BUT NOT INCLUDED. NOMINAL HOLE DIAMETER il 100 TYF
(5A) THE MINIMUM POST EXTENSION BEYOND STANDOFF IS: 160 [4.067. o [2.54]
(5B) MAXIMUM POST EXTENSION FROM FRONT FACE IS [.579 [40.11] 0.90 mm PER |EC 6035/7-95 (4 PLC)
THE CONTACTS ARE RoHS COMPLIANT; SN-DIPPED.
SIZE 12 POSTED PIN CONTACT, TE PART NO. 2-448140-3 FOR 150 POSN. INSERT
SIZE 16 POSTED PIN CONTACT, TE PART NO. 3-448139-4 600 HOLES
SIZE 20 POSTED PIN CONTACT, TE PART NO. 3-448138-2 —— (050
A ¢ |@.005]x Y [1.27)
MANUFACTURERS PART NO. AND DATE CODE (YY-WW) MARKED IN AREA SHOWN. | |
7. ESTIMATED WEIGHT OF CONNECTOR ASSEMBLY AS SHOWN: 485 GRAMS. — - N @P) A
\
8. MAX LOCKING TORQUE FOR M3 CLINCH NUTS: 0.34 N-m (3.0 in-Ibf) | | |
MAX LOCKING TORQUE FOR M3 THREADED INSERTS: 0.45 N-m (4.0 in-Ibf) l _¢‘/////////// L 100 TYP
MAX LOCKING TORQUE IS VALID FOR FIRST CYCLE ONLY. MAX LOCKING 2 090 000o0f0000 4000000060 o 54T
—¢—oqoooooo—¢— —¢—oooooo?o—¢— .
TORQUE REFERS TO THE TORQUE REQUIRED TO OVERCOME THE LOCKING Tolsdesosy Toososerey (1 PlLC)
FEATURE OF THE CLINCH NUT OR THREADED INSERT. TORQUE VALUES [03.09] bodo0o00000b |  boooo000b o
ARE FOR REFERENCE ONLY. iﬁggggggi izzzzzz%zi
9. CONDUCTIVE DUST COVER INSTALLED FOR SHIPPING. (NOT SHOWN) S 68 5446550 Gl Ml S8 SS 06
(D) -0 0 0 0fl0o 00 09 | —¢—oooo|oo o-¢- CA) * A
0. EYE OF THE NEEDLE CONTACT DESIGN CONSIDERATIONS: Todoeeod Tosoaeot}
(A) PCB HOLE DIAMETER: 0.90mm PER IEC 60352-5 Tooooeeecl Tosoecaet 3720
(B) MININUM PCB THICKNESS: .063 [1.6] 40000000 0% %0 000looooe Al [20.96]
(C) PCB PLATING: Sn PLATE RECOMMENDED -¢o$<>doooo¢— | —@ooootjgpgﬁ |
(D) NORMAL INSERTION FORCE: 8 Ib MAX PER CONTACT; Y Togeep oo veoceoe Y
900 Ib AVERAGE PER 150 POSITION INSERT ASSEMBLY i A - BN R e ui Py i
1. KEYING SHOWN IN POSITION "01" FOR REFERENCE ONLY. KEYING Iii%ﬁi?iiiijﬁ | Iiﬁiiﬁﬁﬁi%?i
HARDWARE 1S INCLUDED BUT SHIPPED UNASSEMBLED. Toeop ey Toooop ey
2. CONNECTOR PACKAGING SHALL HAVE A LABEL WHICH WILL INCLUDE, Josoolseer Loy 3 908
AT A MINIMUM, THE THALES PART NUMBER, THE TE CONNECTIVITY —~ —éﬁiﬁa&&OQ*H#_ o o-oofe-o - - ‘
PART NUMBER AND THE MANUFACTURING DATE CODE. > 130 (E) Jogoglesesy Tooooleces T (@) L3192
' 0doo|loooo 000o0|loobo
3. RoHS CODE IS "L" AS DEFINED IN TEC-238-2 DUE TO HEXAVALENT (54 0] Toooeeeey Toosoeosey
CHROMATE CONVERSION FINISH ON SHELL AND RETAINER PLATES. ;igi;;;ggggj; | ;iggggﬁg;%gi
/N TE LOGO APPEARS IN THIS APPROXIMATE LOCATION oo Feeeeee e 829
ON SHELLS MACHINED FROM BILLET. | 100 96 ]
5. ASSEMBLY SHOWN WITH DIE-CAST SHELL. ASSEMBLIES WITH | |
MACHINED SHELLS MAY VARY SLIGHTLY IN APPERANCE. . . . E— {%@) - (§§} -
A | L MIN HOLE DIAMETER
4 260 | P SZ 12 (POS 2,3,7 & 8) = .098 [2.49]
| y | ) S/ 16 (POS 1) = 065 [1.65]
108,20 SRR 2 ¢\ S7 20 (POS 4 & 6) 045 [1.14]
® | ® : / ® | ® : .
120 REF ol e | ol o
090 REF [3.04] - ‘ bl — 2 ] '
[2.29] TO0 CENTER (F) - ( o
PRE-INSERT ION OF EVYE | | .
LENGTH /
. L4720
s ,
L ~ / (10,671
v o 76
® & D
SCALE 25| [9.40]
@—W 230
BODY: 000050 [I[.27um] MIN 2 PLC [5 84 ]
GOLD ON MATING TINES, :
SIZE 22 SOCKET CONTACTS SUUT LU ALY Sn ON EON TAIL, BOTH 915 975 ] 8
Sl A NON REMOVEABLE 04 777 = -l - (04 17 090 —(+) +)
HOOD: STAINLESS STEEL OVER NICKEL PLATE [2.29]
3 PLC 3 PLC | 0
HOOD: PASSIVATED ‘ tO]
ONE PIECE DESIGN
R THERMOPLASTIC NONE WITH NON-REMOVABLE 120 ®
CONTACTS RECOMMENED P.C. BOARD LAYOUT R
M3 THREADED INSERT SCALE NTS S22 g % o
5 PlC STAITNLESS STEEL DRY FILM LUBRICANT (BACK VIEW) — = — > ©
o o (@
M3 CLINCH NUT STEE| [INC PLATED WITH SUPP
|0 PLC YELLOW TRIVALENT CHROMATE
MODIFITED TO
| 3C2 INSERT ASSY PERMANENTLY CLOSE oW 0-29-08
FRONT RELEASE/REMOVE PRERMOSET HORE CAVITIES |, 5, 9, 10, IHES DRAVING 13 CONTROLLED DOCUNENT. 176 ¢ thowns "~ =TE o)
12 8 13 , K. HOGAN b—
ALUMINUM ALLOY PER ASTM-B-85 CHROMATE CONVERS I ON mens tm | T oo " RECEPTACLE ASSY.SIZE 3 ARINC 600
oHELL OR ASIM B 211, 606176 PER MIL-C-o0d] e : 50/150/13C2 SPCLI 1507 1041302 SPCL)
OR AS TM B 2 O 9 U 2 O 2 AT 4 T Y P E ‘ U C LA S S ‘ A j Etg o APPLjCATION e SIZE CAGE CODE |DRAWING NO RESTRICTED TO
COMPONENT MATER I AL FINTISH REMARKS "SEE cattouts|TUSEE cattouts M AT100T779/C=2101003 -

CUSTOMER DRAWING

SCALE

SHEET

2 OF 2 REV M

4805 (3/11)




@Iasﬂ U

KomnaHus ((3J'IeKTpO|_|J'|aCT» npeanaraeT 3akKn4vyeHmne onrocpoYHbIX OTHOLLIEHUN npu
NOoCTaBKaxX MMMNOPTHbIX 3NTEKTPOHHbIX KOMMOHEHTOB Ha B3aMMOBbLIFO4HbIX yCJ'IOBI/lFlX!

Hawwn npeumyuiectsa:

e OnepaTuBHbIE NOCTABKM LUMPOKOrO CMeKTpa 3NeKTPOHHbIX KOMMNOHEHTOB OTEYECTBEHHOIO U
MMMOPTHOrO NPON3BOACTBA HANPAMYO OT MPOM3BOAMTENEN U C KPYNMHENLLNX MUPOBbLIX
CKNaaos.;

MocTaBka 6onee 17-TM MUNIIMOHOB HAMMEHOBAHWUIN 3NEKTPOHHbLIX KOMMNOHEHTOB;

MocTaBka CNoXHbIX, AeULNTHBIX, MMOO CHATLIX C MPOM3BOACTBA NO3ULIUIA;

OnepaTtunBHbIE CPOKM NOCTABKM Nof 3aka3 (0T 5 pabounx gHewn);

OKcnpecc goctaska B Nnobyto Touky Poccuu;

TexHnyeckas nogaepkka npoekTa, NomMoLLlb B nogdope aHanoros, NocTaBka NPOTOTUMOB;

Cuctema MeHeXMeHTa KavyecTBa cepTuduumnposaHa no MexayHapogHomy ctaHgapTty 1ISO

9001;

o JlnueHausa ®CH Ha ocyulecTBneHne paboT ¢ NCNONb30BaHWEM CBEOEHUIN, COCTABAOLLINX
rocygapCTBEHHYIO TalHy;

o [locTaBka cneumnanmampoBaHHbIX KOMNoHeHToB (Xilinx, Altera, Analog Devices, Intersil,
Interpoint, Microsemi, Aeroflex, Peregrine, Syfer, Eurofarad, Texas Instrument, Miteq,
Cobham, E2V, MA-COM, Hittite, Mini-Circuits,General Dynamics v gp.);

MoMMMO 3TOro, O4HMM M3 HanpaBnNeHU koMnaHum «AnekTpollnacT» ABNseTca HanpaBneHne

«UcTouHmkn nutaHua». Mel npeanaraem Bam nomoub KoHCTpyKTOpCKOro otaena:

e [logGop onTuManeHOro peleHus, TexHn4eckoe 060CHOBaHME Npu BbIOOpPE KOMMOHEHTA;
Monbop aHanoros.;
KoHcynbTaumm no NpUMEHEHMIO KOMMOHEHTA;
MocTaBka 06pa3yoB M NPOTOTUMNOB;
TexHn4veckasn noaaepka npoekTa;
3awmTa OT CHATMSA KOMMOHEHTA C NPON3BOACTBA.

Kak c Hamu cBfizaTbCcA

TenedoH: 8 (812) 309 58 32 (MHOrokaHanbHbIN)
Pakc: 8 (812) 320-02-42

OnekTpoHHas nouTta: org@eplastl.ru

Aapec: 198099, r. Cankt-INeTepbypr, yn. KannHuHa,
Oom 2, kopnyc 4, nutepa A.



mailto:org@eplast1.ru

